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4. a) (-8)- (+5) b) (-38) - (+23) 0 (-164) - (-94) d) (+675) - (+474)
(=5) - (-7) (-43) ~ (~19) (+81) - (~156) (+345) — (-419)
(+6) — (~8) (-56) - (-24) (+111) - (+57) (-615) — (+271)
(+8) - (-3) (+74) - (-86) (=75) - (+137) (~687) - (~219)
3. a) (=76) + (+57) + (<91) + (+19) ¢ (~134) + (~89) + (~56) + (~314)

b) (+82) o 3l (-71) + (—54) e (+33) v 1 i gl

6. a) (-19) — (+27) + (=31) — (-46) c) (+156) — (-257) + (-219) — (-98)
b) (-68) + (-56) — (-26) — (+41) : = o

7. ) ~13-24 -~ b) -81-92

-30 + 48 -57 — 54
46 — 87 41+ 63
-56 + 26 > -76 + 51

8 a) -4+10-36+28-8 b) —58~65+ 8377
18-50-15+39+3 -23-47+37-60
-300 + 198 — 250 + 17 — 30 46 — 82 + 66 + 24
415 -314+94 - 112+ 9 -64-81—19 + 104

9. Setzefir das passende Zeichen >, < bzw. = ein.

a) (+24)+(-18) +24 ) 0 (-15) +(-15) e) (Dt (7,2 z
b} A2, =0:8)-~2,9 - d)}O—(-3:2) +(+3,2) f) 4-07%6) +(+3



